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THOUGHT OF THE DAY

your life, no
one can do
it for you







WORD OF THE DAY

TUSSLE

(NOUN): (&EW): scuffle

Synonyms: fight, struggle

Antonyms: accord




WORD OF THE DAY IMAGE




ERROR DETECTION f




E SBIPREVIOUS YEARQUESTIONS i

Q.1. Each of the survivors of the Tsunami
(1)/have been offered free (2)/psychological
consultation to ease their trauma, (3)/by
some of the top consultants. (4)/No error (3)

(2) Use ‘has’ in place of ‘have’.
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2.While these schools have/ 2) a strong

traditional hold, the reason for / 3) forming a

consortium in India is to encourage / 4)
cultural diversity for their institutes. / 5) No

€rror.

Answer: (d).

Replace “ for” with “ in”
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3. The fight among/ 2) rival candidates

between the medium / 3) of catchy

slogans/ 4) has started. / 5) No error.

Answer: (b)

Replace “between ” with “ through”




4. I remember my childhood days (1)/ when I
was used to go (2)/to the farm with my father
(3)/ and help him in his work (4)/ No error (5)

Answer: (A)
Replace “remember £ with

“remembered”



S. This group of (1)/ rural achievers is

very (2) / different than the (3)/ ones in
the past (4)/ No Error (5)

Answer: (3)

Replace “than ” with “from”




Phrase Replacement




6. Anyone of these two ideas will be used to

execute the project.

1. Anyone of those two
2. Either two of these
3. Two of any of these
4. Either of these two
S.

No correction required

ANS-4
Either of these two




7. The Delhi Police has arrested three men in their

early 20s who are believed to be the hands behind a
spate of robberies in city schools, including some
prominent ones.
a) have arrest

b) have arresting

¢) have arrested

d) has arresting
e) No improvement is required

Answer: ¢) have arrested



8. A study has found that smoking cause one
in

ten deaths worldwide.
a) smoking causing

b) smoked caused

¢) smoke causing
d) smoking caused

e) No improvement is required

Answer: d) smoking caused



9. A.B. de Villiers may have take a long
break from Test cricket, but it is clear he
still holds the format in high regard.
a) have taken

b) has taken

¢) Had taken

d) has took

e) No improvement is required

Answer: a) have taken
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10. A special memorandum of

understanding on training in Bangladesh
military personnel is also included on the
agenda.

a) on training of

b) of training of

¢) in training to
d) on training to

e) No improvement is required
Answer: a) on training of



Match the column




IColumn (1)

IColumn (2)

(A) Differential voting rights enable

jpromoters to retain

(D)

Iways, all of which involve social

engineering tactics to fool end-users.

(B)

According to security

iresearchers, this vulnerability

|could be exploited in three

(E)

irrespective of the thunderstorms.

O) |l-)e's young and beautiful

control over company even after many

new investors come in.

A. Only B-D B.Only A-F C. Only A-F, B-D
D. A-F, B-D, C-E E. None of these

Correct Option: C




olumn (1)

IColumn (2)

(A)

This surreal experience, of

walking along rows of

D) |agreeing to the proposal.

(B)

IGenerally the trend has been

to have a design that does not

(E)

tea bushes teeming with butterflies,

is out of the world.

(©)

That isn't how it happened

)

lhave any mechanical elements in a
smartphone to make them more
Idurable.

A. Only A-E
D. Only A-E, B-F

Correct Option: D

B.Only B-F C. Only B-F, C-D
E. None of these




olumn (1) IColumn 2)

A) It is a multilateral lending agency (D) |driving, cooking or otherwise have
their hands full.

(B) [The read-aloud feature is (E) never complain or condemn.

particularly useful when users are

|(C) |Sarah was great tonight |(F) and regional development bank.

A. Only C-E B. Only A-F C. Only B-D, C-E
D. Only A-F, B-D E. None of these

Correct Option: D



SPELLING ERRORS




Q.14. The council (1)/denied having any hand (2)/in
the recently (3)/unearthed scandle. (4)/ All

correct (35)

(4) correct spelling is scandal




Q.15. He was unable (1)/to give a
satisfactory (2)/ explanation for his
absense (3)/from the meeting. (4)/ All
correct (5)

(3) correct spelling is absence




Q16. As the ship was sinking (1)/fast, the captain
(2)/ gave orders to abandon (3)/it
immediately. (4)/ All correct (5)

(5) All correct




17. The Principle (a) insisted that the
teachers (b) set an example (¢) for the
students. (d) All correct (e)

Ans. a

Exp. ‘Principal’ means a chief or head




18. All drivers (a) must carry (b) their
lisense (¢) and insurance papers (d) All

correct (e)

AnS. ¢

Exp. The correct spelling is ‘license’.




19. Children (a) normally respond (b) to

praise (c¢) and encoragement. (d) All correct

(e)

Ans. d
Exp. The correct spelling of the word

is ‘encouragement’.




Modern (a) farm implements (b)
have revolusionised (¢) the
agricultural industry. (d) All

correct (e)







